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A. F(X)=|x|sin|x

B. F()=|Xsin|x

c. f(x)=cos|¥

D. f(x)=cos\/N

2341(1,0,0),(0,1,0), 15 i z= X + y? HHHIF i
AZ=05x+y—z=1

B.Z=052x+2y—z=2

c.X=Yyhx+y-z=1

DX=Y52x+2y—2z2=2

= 2n+3
9 —
32 ) nt)
A.sinl+ cosl.
B.2sin1+ cosl.
C.2sin1+ 2cosl.
D.2sin1-+3cosl.

f 1+x f 1+X K:f%(lJr\/@)dX-mlJ:
2

AM>N>K
B.M >K>N
CK>M>N
DK>N>M
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6.5 A Bl NEE, G r(X) HHEE X Rk, (X Y) s e, )
A.T(AAB)=T(A)

B.r (BBA)=r(A)

c.r(AB)=max{r(A),r(B)}

p.r(AB)=r(A" B)

z&%MQEXWM$%§H©%EfG+©=fﬂ—@’H]:N@W=05’Wp“<q:

A.0.2
B.0.3
co4
D.0.5

8.5 b X MM E A5 s N (1107 ). X, Xa oo X B LR X i fef e BHLRE A, 4R 0 AE AR 1
Hotp= o, Hytp= pg. M

ATRAER KT o = 0.05 R Hy o IR ALK KT a = 0.01 F it H.
BRI AT o =0.05 FHigi Hy, AR KT o =0.01 F o532 Hy.

CHTRAER AT o = 0.05 FHZ Hy, TRALER KK o = 0.01 F b4tigs Hy.

DAUIRAERT I KT oo = 0.05 Tz Hy o IBATERIR KT o = 0.01 F %5z H,, .
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9.4 lim

Xx—0
10,5 B FOO LA 2 NSS4, 25l y=F00it 1 (0.0) L5 lid y=2 76 (L, 2) ibkib), W)
[t "(x)lx =

(1—tanx

] =e Mk =
1+tan X

11.% F (X, Y,2) = Xyi — yzj + 2xk, Wrot F (1,1,0) =
12 L AERI sC+yP+2=1 5P x+y+2z=0 [{1354k, W $ | xyds= .
13, 2IHTHE A AT IR, o,y A HILEHE TSI G i, LI A%y + ay)= a, +

gnJ|Al = .
14BN A 5 B AHE ST, A 5 C AR AST,
BC = @4 P(A) = P(B) =%, P(AC | ABuC)%,ﬂ'JP(C) =





